O A A A
20108 =04t JIEISE
S
solAMel U3
st Mg DI el (M| 2 SE3lH) (98
SA - HB B9 (E) - NRAY - Ba S Lo e DS
0 46,200 44,970 1,230
Jdy A3t 46,200 44,970 1,230
A2 M1 H 2l ( 3l H) 46,200 44,970 1,230
s Il X 75 100 A25
201 etz 75 100 N25
01 AtR 2t 75 100 VAVZS)
oMgJ| =
00& * 5/100 75
ol gyl 46,125 35,370 10,755
801 0ildlbl 46,125 35,370 10,755
01 ol8l 46,125 35,370 10,755
ool 46,125,000& 46,125




SN

By MOISASSER
S MOISASSEEXNRA(MOISASAIE2H 2 EE5AH) (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
=01 X & 885,003 802,051 82,952
MOI2ASEE XA 885,003 802,051 82,952
MOISASEEINA(MOISASAIE2I 2L EE3H) 885,003 802,051 82,952
MOIE2EASSE XA 25,000 100,000 A75,000
501 A2 25,000 100,000 A75,000
01 012t 3 25,000 100,000 275,000
OMOISASEEXNE A2
25,000,000& = 1JHOIS 25,000
ol g1 8l 860,003 702,051 157,952
801 oilglyl 860,003 702,051 157,952
01 ollglbl 860,003 702,051 157,952
O0olglbl 860,003, 000& 860,003




S ARSI =X
Ha: #E2Y P
CHol: Q2 I (AEIZXIT)(ABS0IIZ S2aH) (e @e
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
RN 3,534,262 2,552,657 981,605
= 740,431
Al 2,793,831
2P| 32,786 30,580 2,206
= 32,786
ol 2| (AIB =X ) (230012 SE3H) 32,786 30,580 2,206
= 32,786
o121t 32,786 30,580 2,206
= 32,786
101 Q124H| 32,786 30,580 2,206
< 32,786
03 RIIHAZE NS 32,786 30,580 2,206
CEEECE PR 32,786
oJlea 38,9002 * 19 3652 14,199
= 14,199
04012 14,198,5002 * 4/12 4,733
= 4,733
ONZAZAY 8,710 * 25A12 « 128 2,613
= 2,613
ORI+ 33,9008 * 152 584
= 584
ORSH| 10,0002 * 122 1,320
= 1,320
SEEL:] 120,0002 * 122 1,440
= 1,440
OYREIHHI 1,183,208 * 75% * 23] 1,775
= 1,775
Ot 2 ZH| 1,183,2008 * 30% * 53] 1,775
= 1,775
O2EIIAMS 38,0008 * 40% * 44 « 122 747
= 747
05042 8 300,008 * 12 3,600
= 3,600
SEINSTEVIESS 2,753,830 2,109,796 644,034
NASTOMEON)IZ2S(NASTUMBHINIS 2,753,830 2,109,796 644,034
5 )
NASFOIMEHNIIZ SR 209,780 600,000 390,220
201 Yereot| 80 0 180
01 AtR22lt] 180 0 180
OMEYR WAARE +ASK P
3,0002 * 6004 180
207 1Nt 9,600 0 9,600
02 FADHE] 9,600 0 9,600




SA: ARSI XD
Ha: AUAEI=T E3

S9l: HASTFOIMSONIZSY(NASTMSOZGSSLSIH) (e @
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
OMASFOMEONISZ 2SYE ATE 0P
o1l 4,800,008 * 24! 9,600
501 X3 200,000 600,000 400,000
01 DIRIE X2 200,000 600,000 400,000
OMASFOUMEONIIZ BX
10,000,0008 * 20% 200,000
ol bl 2,544,050 1,509,796 1,034,254
801 0ilHI bl 2,544,050 1,509,796 1,034,254
01 ol byl 2,544,050 1,509,796 1,034,254
© bl ] 2,544,050, 0002 2,544,050
2OOIEME LA s 707,645 371,280 336,365
< 707,645
220 JIBEL(SS0IIZ S 707,645 371,280 336,365
= 707,645
EEE T 707,645 371,280 336,365
= 707,645
101 Q1248 57,722 53,604 4,118
= 57,722
04 JARZEISES 57,722 53,604 4,118
CEEE R RIEE
1,620,008 * 2% + 128 38,880
= 38,880
OAZIEI%=E  8,0148 * 20AI2F * 2% + 128 3,847
= 3,847
OEZ0it| 160,000%! * 2% * 122 3,840
= 3,840
CEEE 1,620,008 * 29 3,240
= 3,240
OABIRES 3,876
O=pleizwda 38,880,0008 * 4.5% 1,750
= 1,750
OR0IALBE LT 38,880,000 * 2.54% 988
= 988
OFIIQULHLLSZ 9875508 * 4.7% 48
= 48
ODNBRE22YZ  38,880,0002 * 1.3 506
= 506
OMITHAHEEE  38,880,0008 * 15/1,000 584
= 584
0220 FAIIE LAIAISIQIZY
35,1202 * 19 » 232« 53] 4,039
= 4,039
201 Y2 Y| 6,423 8,276 A1,853
= 6,423




SN AEST D
M3 20| FME LA

Sl 230 JIBZS(A2S0IIZ SEIH) (S5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 At 2r2lb| 6,423 8,276 A1,853
0°BS0IRY ARE (ZABX)
25,0008 * 508t A 1,250
= 1,250
02230152 45 R0
65,0008 * 68 A * 4% 1,560
= 1,560
0o230E2E R
20,0000 * 202! * 3% 23] 2,400
= 2,400
OZ0Z R0 ZH AREY
583,008 * 1CH 583
= 583
CEEEVINEE -V Es=
70,0002 +3 *33] 630
= 630
202 OiH| 10,000 10,000 0
= 10,000
01 =2Uloibl 10,000 10,000 0
OARTHALEXOH 20,0002 x42i 1252 10,000
= 10,000
307 QI2H0|H 629,500 295,400 334, 100
= 629,500
SIEEEEEN 629,500 295,400 334, 100
O+2X HSZ0NY 629,500
OFMoIRET 1,020,00020 * 200% 204,000
= 204,000
ORRLEAS 105,008 * 5002 52,500
= 52,500
023 20,0002 * 700 14,000
= 14,000
OUAXIZRAH 120,008 * 10 *123] 14,400
= 14,400
ONES=AELLDE Y]
80,0008 * 108 * 122 21,600
= 21,600
OZMEF TBYIFY 100,00020* 302 3,000
= 3,000
CEEVEES 25,0002 * 12,8002 320,000
= 320,000
501 X2 4,000 4,000 0
= 4,000
01 SIS 4,000 4,000 0
©°BS0 2EUAK HES
400,008 * 102 4,000
= 4,000




SN

At = X ot

=EF (MBI= D)
thel: BEXE(E=0II2 SEIAH
- _ MNuE o
SA - =BG (3) - MR A Arol e
XH S (A8l S X D) 40,001 41,001
=30012 SE3H) 40,001 41,001
HEE A 40,001 41,001
gtet= I E 40,001 41,001
Al - EHIEXSEtEZ2 1 1
OU=EX 1
HHE=S 40,000 41,000
ogtes 40,000
O3303 0l k==& 3,000
OogtEsxta gl 500
(OFSEagel 32,000,000& 32,000
ONEEeg 4,500




B

g
+=22g ol & oHd
NS (EMA SE3H)

(o]
=20

=1
(R
121

1,238,829 868,956 369,873
Il 1,156,000
Al 82,829

g o L e 162,829 70,000 92,829
p) 80,000
Al 82,829

M (=2 ES3IAH) 162,829 70,000 92,829
p) 80,000
Al 82,829

+EQASHN =& 160,000 70,000 90,000
p) 80,000
Al 80,000

207 A 1OH2H| 160,000 70,000 90,000
p) 80,000
Al 80,000

01 g+1E3HI 160,000 70,000 90,000

O==223 & A=

160,000,000 * 14! 160,000
p) 80,000
Al 80,000

ol gyl 2,829 0 2,829

801 0ilHIHI 2,829 0 2,829

01 odldl 2,829 0 2,829
O=+=Z2ZFHHMNF& ol 2,829,000& 2,829

Es(sdu) 1,076,000 798,956 277,044
p) 1,076,000

HWRAHAHXS(=EHE SE3IH) 1,076,000 798,956 277,044
p) 1,076,000

LHEHH KIS 1,076,000 798,956 277,044
Il 1,076,000

404 SI|EN2HES 1,076,000 798,956 277,044
p) 1,076,000

01 BIIHELEIANN=NES 1,076,000 798,956 277,044
Oot=CSINUSE3H N2HES 1,076,000

OttesddXl A2 SE3AM

194,000,000 194,000
p) 194,000
OWItAIE XIS A 882,000,000& 882,000
p) 882,000




M SAIDHE D
I S ADNY
Sl ZII0IEE TANE NEEA(HNEY

an
g
tol
=
[
£
2
0

- — _ XN H
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
JH ot 1,210,650 4,063,312 N2,852,662
AR 1,210,650 4,063,312 N2,852,662
JI0IEE TAHE MESA(HXEY SE3H) 1,008,875 1,513,312 A504,437
ZIIDIEEZAHEANLEE 1,001,640 1,496,315 AN494,675
401 Al&HIZL=ROHYI 1,001,640 1,496,315 AN494,675
01 Al&H| 1,001,640 1,475,000 A473,360
o=X 80,000,000& = 102Xl 800,000
oONE=EY 40,000,000 * 3= 120,000
OXNE=SEN 24,000,000& * 3= 72,000
PSR I) Eey=d 150,000& = 102 X 1,500
OS8JI0I&8x=== 100,000& = 10E X| 1,000
O=REgEHTE 357,000& * 20E X| 7,140
ol gl bl 7,235 16,997 A9,762
801 aildldl 7,235 16,997 A9,762
01 Oilgldl 7,235 16,997 N9,762
oolgldl 7,235,000& 7,235
[BIAIE R €3 20 A(0IBAIE SE3I) 201,775 2,550,000 N2,348,225
ol gl bl 201,775 2,532,000 A2,330,225
801 aildldl 201,775 2,532,000 A2,330,225
01 Oilgldl 201,775 2,532,000 22,330,225
oolgldl 201,775,000& 201,775




SN ASD
HE: ABHTAAGD
el FEAIRER(F S=3) SRCE
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Aol il i~ o 2
=1 3,224,256 3,020,565 203,691
AEHFHH A E 3,224,256 3,020,565 203,691
AR 2te| (== SH3H) 3,224,256 3,020,565 203,691
=0 FEYR = 720 3,000 22,280
202 O4H| 720 1,080 A 360
01 =Wl 720 1,080 A 360
ORRUFUSNZ A =0l
20,0002 * 60 = 60/100 720
ol g1l 3,223,536 3,017,565 205,971
801 0/t bl 3,223,536 3,017,565 205,971
01 olldldl 3,223,536 3,017,565 205,971
oolgldl 3,223,536,000& 3,223,536




ME=3-1psn)
YES22 (DEYTT)
ol (REAY SE5IH) (ersl: &g
S BB (EH) - NEAY - BAS e HInE
nsdEu 12,093,598 12,115,216 AN21,618
HY 2G| (RS ) 880,700 90,203 790,497
QIHES2HHI(NSAIE SE3IH) 818,827 39,626 779,201
ol 24| 814,627 35,426 779,201
101 28| 814,627 35,426 779,201
02 JIEt& 2= 45,695 35,426 10,269
NEsdMES B 45,695
Od=AH 37,200,000& * 1Y 37,200
OJts=g 80,000& * 19 = 12& 960
OAlIZ2t2l =4 6,3863 * 45A12t = 12& 3,449
O=cl=4Y| 285,000& = 12& 3,420
OHItE &I
32,987,000& * 1/12 = 66% * 1/30 » 11 666
03 RIHLZZHE > 768,932 0 768,932
OFFX NE&HH 740,063
o= 654,854
== 41,9003 = 18Y = 365 275,283
-&H3 275,283,000& * 4/12 91,761
== 90,000& * 18Y * 12& 19,440
—dmozay
6,183& » 150% » 25A12F » 189 = 12& 50,083
-£4224y 24,929
 =ERos
49,4613 = 150% » 5% = 128 * 23] 8,903
CAQIBAEOE B8 FEES
49,4613 = 150% » 9Y = 12& * 23| 16,026
-Axt=E 41,9003 = 18% * 20 15,084
-w S| 110,000& = 18 * 12& 23,760
-= &l 120,000 * 18Y » 12& 25,920
—yE A
1,247,080 * 75% * 18 23] 33,672
-JtAHIE £ | 1,216,660& * 150% *» 18Y 32,850
P IE =R =, 433,880& * 198 * 43| 1,736
S
41,9003 = 40% » 209 = 159% * 12& 60,336
O4EE AXHMEES 65,209
-=20d3 655,813,000 * 4.5% 29,512
-—mAHAEE 655,813,000 * 2.54% 16,658
- RYEE 16,658,000 * 4.05% 675
-NESBER 655,813,000& = 1.3% 8,526
-~MAMHEER
655,813,000& * 15/1,000 9,838

_‘]O_




SN DEBF
B MESAAL(DEXED)
Chel: A2 HH| (REAY SE3IH) (ctel: &
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
O)SESE= 10,000,000& » 29 20,000
Ousd=2R¥ 28,869
o= 26,665
-Jl2a 35,9003 * 1H = 365¢ 13,104
-&03 13,104,000& * 4/12 4,368
—oigazsy
5,4333 » 150% * 25A12+ = 19 * 12& 2,445
-AXt=E 35,900 * 20 » 19 718
-wSHl 110,000& = 12&8 * 1H 1,320
-= gt 120,000& = 128 » 1% 1,440
EESIT]
1,090,000& * 75% » 23] * 1Y 1,635
-JtAHIE 2| 1,090,000& = 150% » 1 1,635
O4U2e XM EE = 2,204
=23 26,082,000& * 4.5% 1,174
-=SHAEE 26,082,000& * 2.54% 663
-“BIRLEH 663,000& * 4.05% 27
-IEBER 26,082,000& = 1.3% 340
Sl 4,200 4,200 0
203 HRF&Hl 4,200 4,200 0
04 BEASSEHFRFLHI 4,200 4,200 0
OJ|EH (MR 3020/t Al1t)
350,000& = 123 4,200
Jl2dul(nEAY SE3H) 61,873 50,577 11,296
Jl=&dl 61,873 50,577 11,296
201 LBt A 26,353 24,657 1,696
01 AtE22|Hl 23,509 24,657 A1,148
OJ|2HdRdHesZHI(JIEZH]) 8,029
o=2% 8,029,000& 8,029
O=2dI(J1=ZHl) 15,480
o= 5,000& » 22% » 80 » 90% 7,920
ougd+E 5,000& » 10H = 80 * 90% 3,600
o413 5,000& » 11H = 80 * 90% 3,960
02 2223l 2,844 0 2,844
OHEFAREH RXE=H| 2,844
Ousa#FEH| 200,000& = 12& 2,400
O& K= A 3,700,000& * 2CH * 6% 444
202 O4Hl 35,520 25,920 9,600
01 =Yl 35,520 25,920 9,600
©J1&Z 4l 35,520
o=2% 20,0003 » 22% * 60 » 80% 21,120

_11_




M DEHED
NB: BE2AAY (DEB D)
chel: J2dHl(LSAY SE3IH) (9 E2
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
oag—-s 20,0002 * 7% = 60 » 80% 6,720
Oosg4e+3& 20,000& * 8Y * 60 * 80% 7,680
melst =xsd &y 2,103,345 5,238,238 A3,134,893
FIHE M L Zel(nSAE SE3H) 109,000 2,184,940 A2,075,940
F=IHE =5 109,000 261,000 A 152,000
201 LBty 45,000 41,000 4,000
01 AtSR2t2ldl 45,000 41,000 4,000
O==XELX g 3,000
O=date 100,000& * 2094 & 2,000
ogz=a3 500& * 2,000% 1,000
OAl /XY SSIHEFIUHE 2l
500,000& = 74 » 128 42,000
401 AEHIZ R HbI 44,000 45,000 A 1,000
01 Al&t| 44,000 45,000 21,000
oag+1E 20,000
O s L2=IE 84X & &l
4,000,000& * 5 20,000
(O 3=EnF~| 24,000
Oy, LAFXE X ¢ FHb|
4,000,000& * 6IH A 24,000
402 DIt X =01 A 20,000 75,000 55,000
01 QA GEEX 20,000 75,000 AB55,000
OUWEF=XEHIIAILZ=E EX
2,000,000& = 10902 20,000
EI Bel(DEAY SBIA) 1,994,345 3,053,298 A1,058,953
EYUFIEXN oS FA 1,838,135 2,292,486 A454,351
201 Yot ) 1,233,001 1,191,853 41,238
01 AtR2t2ldl 170,690 184,706 A 14,016
o=2% 19,548
O=3XENeE EEE MH 7,000
- &E 50& = 20,00000 * 3= 3,000
- Edt= 100,000& * 20004 = 23] 4,000
OMea+=LDRA HMEX 2 2,400
- MaEX 90,000& * 108fA 900
-&=SF 100& * 15,0000H 1,500
Ognsliet Xisxt HEHEZ 42 24l 7,248
-DXA ZEH EY
165,000 * 2CH = 123l 3,960
-SA| €4 260,000& * 1CH = 63l 1,560
-SAE X (A4) 18,0002 * 88fA * 123 1,728
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22
J2

©)
ke

OMYBRUSRSSEA SEF2 32|
5,0002 * 108 « 43 « 128
OFY 2 OF2 FHICSE SAHI(2IIHY
A1) 5,002 * 1003 * 1%
SR
ODENZ SDUY ISK AEIH(3E)

80& = 10,0000 » 38

OFHYIxE dHdel 82

-t & 80& = 2,5000H * 22
-2dItE 100,000& = 5Jf = 23|
“AHADJIZEHe 95 80& * 1,00004 » 105
OSEg=EX YEeHs DX A
-NASEA 90,000& * 8&atAt » 12
- EH XA 90,000& * 6&fXt » 12
-=Z=1XAM 90,000& * S5&f X} « 128
-dESAM 90,000& * 5&tXt » 128
RUE RSP 80& = 1,00001 = 123

OAEENH H AZSE

te

-DAMERH EU

S P

50& = 25,0000H

=
150,000& = 123

FEXNES AEE S
100,000& = 5J1 = 13l
d4g 43

50,000& * 204 = 12&
50,000& * 201 = 123

165,000& = 4CH = 63l

400,000& * 100 = 62
70,000& * 1CH * 62

CCIVHESEAM £E88 ZctZely &Y

22} 300,008 * 2CH + 122
=u 165,0002! * 204 * 122
~=AEX 18,0008 * 54X + 122
OFIXE2 292
-t 10,0008 * 3%
OFFXE2R 22=(RIHAN)
2= 70,0008 * 8% * 25
R 10,0002 + 8%
OFY 2 0k FIXSEST Z2|
5,00021 * 4% * 503
OFY 2 012 FIXEE = 3| (2
JIA ) 5,009 * 82 * 1003l

2,400

500
71,170

2,400
2,200
400
1,000
800
26,880
8,640
6,480
5,400
5,400
960
1,250

1,800

500
2,400
1,200
1,200

19,020

3,960

1,000

4,000

_13_
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PN nSHAD
B BElE FRBZY I
©el: FEX 2 (nSAY SE3IH)
SN B SRA(SIH) - MBAY - BAS 0 & 24
ORUEXIXY HOIWHAS(LXZ)
30,0003 * 250CH 7,500
(OF=3=Eers! 79,972
OLEHER A RtSXE AEIH(3E)
80& * 15,0000 » 38 3,600
ORHeExIxtgy gHEe g8 2,200
-t = 80& * 2,50004 * 23| 400
-SHItE 100,000 = 504 * 23l 1,000
-AFADIEHR 95 80& * 1,0000H » 105 800
O=dY =3 XUEHs DXAM 33,360
“AMASEAM 90,000& * 10&fAH * 128 10,800
= LV 90,000& * 10&HAL = 128 10,800
-=Z10XAM 90,000& * 5&tX+ = 12& 5,400
-AFES XA 90,000& * 5&tXt+ = 128 5,400
-0l & ™A 80& = 1,00004 * 12& 960
OAlg 2aF0H 50& = 20,0000H 1,000
ORSUXINY AHHI} 42
150,000& * 123l 1,800
OANOIZOl % AZEFFXIES HE 700
-SadiIte 100,000& = 704 = 13l 700
OUXIEALRID AIXIESEE 23 2,400
-z 50,000& * 200 = 123 1,200
-=E9 50,000& * 274 = 12& 1,200
OFEXHSE YR AR FH| 19,452
-dI0IMERH EU
165,000& = 404 = 63l 3,960
-OXNMEEH EY
400,000 * 100 = 63 2,400
-A Bl 70,000& » 100 * 62l 420
-CCIVE=SEM 288 ZdtZed &Y 11,160
2t 300,000& = 2CH = 12& 7,200
=y 165,000& = 2CH * 128 3,960
-SAMEX 18,0003 » 7& Xt « 128 1,512
OFEXHEFE 28= 300
-&st= 100,000& = 39H 300
OFEX ths FI 2RE(RIAHAE) 2,160
=283 70,0003 » 9% » 2& 1,260
-2Et= 100,000& = 9% 900
OFg % o2t =HIULEFE S|
5,000& = 49 * 503 1,000
OFY 2 0F2F FERDS =8 Z2HI(2)
HoFA) 5,000& * 1002 * 99H 4,500
OSHYUX Xz A2 (L RE)
30,000& * 250CH 7,500

_14_

20
B
2




SN RSB
o el FUEY X4
Sl FIX 2l(RSAY SEIA)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e
Off &F OH
02 BB 1,062,401 1,007,147
0=F (322 L MAI) 18,615
ORE23 50,0002 * 104 » 128 1,800
OSBRI 13,170
>l 1,7502 « 4708 » 122 9,870
—ut 2509 * 5005 * 122 1,500
-SolgtsE 1,50020 * 1008 * 122 1,800
OSAALHSVDED ABIICYR 242
135,000, 00081 *2.7% 3,645
ONYTH(ZBRS L MAM) 441,732
OSHFIT WH2IXN L S5T 2WEe
3 204,600
>l 1,75020 + 6,6005 * 122 138,600
~elet 25021 * 10,0008 * 122 30,000
~SJIME2 1,508 * 2,008 + 122 36,000
OSHFIIDEHE L2 AT AS2
802 * 7,00021 * 122 6,720
OSHFIINDHE UBIICSHE 248
500,000,008 * 2.7% 13,500
OBYFIX S&XT HAZD2 5,100
“RSIM (CHOIA) 28,4808 = 1CH * 1] 29
XS XM (OFEHE) 230,008 = 3CH * 1] 690
-NHSAM(22) 184,008 * 104 * 1] 184
-MSIM (GHLIE) 65,0008 * 104 * 18] 65
-SE P8 (CH01A)  241,5508 « 104 * 18] 242
S8 (0tEHH)  750,0008 * 3CH * 13 2,250
-SE P8 (22) 300,008 * 104 * 13 300
-EEEE (3ILY)
1,100,008 = 104 * 13l 1,100
SHOIHAL £ 48,0008 * 5CH * 1] 240
ORSXTEHHE SHHAHRE
3,500,0008 * 13l 3,500
OZYFHX SO JiH2t 29 92,340
~s423 35,0009 * 578141 * 128 92,340
Ofugi T ZT2IY KX
275,0008 * 128 3,300
OZYFHA LOAEIIH A LR 75,920
R LENERESI=ES 55,920
PHERME
90,0008 * 1H4 * 122 10,800
P RS
40,0002 * 47044 * 128 22,560
- R A 40,0008 * 4704 * 122 22,560
-2oI5tH2t OIHIRE 2,000,008 * 10Tk 20,000
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FA NSHF L
Zu: mals FeY x4
Ctel: =EX 2el(nSAYE SE3AH) (98
RA B SA(BH) - NRAY - B 0fl &t e HRE2
OFFXHtEZ2 g 2|
1,000,000& = 12& 12,000
Ond T8 RHEHl | 471
-0EA 1,000,000& = 7CH * 6% 420
-EUE 170,000& = 501 » 6% 51
OgMal J1301 |X
120,000 = 10H * 128 1,440
OFFNHHYRFA =X 1,841
-LANEH ZEd
6,578,720 * 1CH * 6% 395
—cll Ol M Z gl & 1,400,000& = 4CH * 6% 336
-ZotZed 7,000,000& * 2CH * 6% 840
-& A= AL 3,500,000 * 1CH * 6% 210
-A 1,000,000 = 1CH * 6% 60
OXMZRTI (H2Y - E=th)
3,000,000& = 5CH 15,000
OHEXEM CCTVItNI 2t | X2 ==H]
2,000,000& = 3CH 6,000
OsE7E (3323 % MAl) 602,054
O8Itz DN & S5 2ER
= 306,000
-S| 1,750& = 10,0008 » 12& 210,000
-get 2503 * 20,0008 » 12& 60,000
-SolgtEs 1,5008 = 2,0008 * 128 36,000
O=EHF=EXUENE U2 AT MES
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OHAFEEHEH UPSatdel ¢
310,000& = 20CH 6,200
401 A &HIL 2048 403,808 203,958 199,850
01 Al&HI 401,000 202,500 198,500
OHAZSBOHDII(BIT) &7 &X
9,600,000& * 15004 144,000
OHAZEAAH(BIS) SYAXMeAMHTRS &
He 145,000,000& * 1A 145,000
OHAZFAY SMS MHIA Y & 2=
100,000,000& * 14 100,000
OHAHSBCHHII(BIT) Ol AXI
3,000,000& * 4044 12,000
03 AlE=20HdI 2,808 1,458 1,350
OHAFEHUII(BIT) BHEX & HER=
SN ] 390,000,000& * 0.72% 2,808
HREs(nsHF ) 2,146,015 2,117,556 28,459
HEAHAHXS(LSAY SE3H) 2,146,015 2,117,556 28,459
ANE2e|se 29 2,146,015 2,117,556 28,459
309 BIIHFAEES 2,140,711 2,061,710 79,001
02 ZAt- SHIAEEF 2,140,711 2,061,710 79,001
OANAEZ2|SE =AMLY 2HHIEX
2,140,711,000& 2,140,711
404 IS =2 ES 5,304 55,846 AB0,542
02 SA- SHA2EEZ 5,304 55,846 AB0,542
OAd22sH =AY HEZHEX
5,304,000& 5,304
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SN HYSEAYL
HH: HHRSAFU(NSSSAMYL)
el D=L (REAY SBE) (25l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
APSS AL 54,207 602,507 £58,280
HYSAZY (HSSETAIYL) 49,770 42,298 7,472
JI= A (DEAY S23T) 49,770 42,298 7,472
o= 2l 49,770 42,298 7,472
201 LByl 21,930 20,698 1,23
01 ALRelt] 21,930 20,698 1,23
CRELERS EEETISIE=TT)
11, 130,00024 11,130
OSHI(IEZHI) 10,800, 0002 10,800
202 01t 27,840 21,600 6,240
01 2Uhoit] 27,840 21,600 6,240
CBIE=T] 27,840,0002 27,840
HADSSYE 494,457 560,209 765,752
NEX SEH2(DEAY SBE) 494,457 560,209 65,752
NEXNS=20 58X 29 440,737 467,739 A27,002
101 @121t 92,684 67,496 25,188
VIBEDEESEERS 92,684 67,496 25,188
URSE(2a) Was HY
35,1202 « 4% * 252 « 62 21,072
AN FINRUL G
35,1202 * 4% * 252 « 62 21,072
OBHAXHY NSH S
35,1202 + 28§ * 252 « 62 10,536
OMEIEHNES 4 L BSH YX|
35,1202 + 62 * 252 « 62 31,608
OINAH22R BHE NASHHLLS 8,396
SELI-E 84,288,002 * 4.5% 3,793
OEEIEE 84,288,0002 * 2.54% 2,141
OFIIQYH 2,141,008 * 4.7% 101
ons=d 84,288,008 * 1.3% 1,096
ONATHBHZ  84,288,0008 * 15.00/1,000 1,265
201 L2 318,903 329,207 10,304
01 ALR eIt 63,823 92,367 £28,544
oXYSE BI2YAY| 63,823
OHMTY A2F 7Y 17,993
-AOINTRIE EU
65,0008 * 15CH * 33| 7,425
~DXAMEY ZRIE £
500,00020 * 1CH * 33l 1,500
AL 70,0002 * 4CH * 63] 1,680
~= A £ 260,00020 * 3CH * 43l 3,120
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AN NHHEHSEAEA
H: MADNES3H=
Sl G S (REAMY SEIH) (Sl &2)
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
OI5)| €8 528,000& * 6AFAt 3,168
-MNESSEAMI Z2E X 110,000& * 104X+ 1,100
OgRUH =5 1,600
-dH3E HA 400,000& = 13 400
AYANLBUBY S22
500,000& = 13| 500
~MIIOtHA S =2 300,000& * 13 300
-AZ2LXHEI =2 400,000& = 13 400
OXNSXNSES HH MEA 500& = 10,0000H 5,000
OMNSXLAHSE HE 7,000& * 500% 3,500
ORNSHDHF U S oHlY &40
100,000 * 2004 * 43| 800
OAMIIHZEA HElZ  8,0002 * 50000 4,000
ORNSHS2ZE MA o1 29,080
AR A OIHSSHEN 95
3,500& * 1002 * 9& * 23] 6,300
“HEY 22 AHN 25
3,500& * 1003 x 28 * 23] 1,400
NG, YA AEDH L0 EXNS K 178
3,500& * 20 x 1785 * 23] 2,380
-XNSXHEAF ot & ElE XD XM 5
= 80,000 * 2& Xt » 5& * 33 2,400
-OIR28Y ot ¥ MEHE RFEUXA 55
80,000& * 2&XI » b= * 33| 2,400
~MNSIHSEESHEA 353 * 40,0000 * 33 4,200
-MNSIsEES 50& = 40,00000 * 33| 6,000
-ANSHSEJAR 25%& * 40,00000 * 33| 3,000
-RESE2HIE AMAXMHEEX} GHUH2
250,000& * 28FA x 23] 1,000
OLRZEIUHEZE MYEA SSULESE S
I =2 600
-AUEBEEE 3 2,000& * 200AH 400
-ASHM == 1,000& * 200 200
ONHE MEX 2HEI =2
250,000& = 53] 1,250
02 ss294l 255,080 236,840 18,240
022322 2 HA 236,930
oRERZ 199, 182
=i 1,750 * 5,000 * 128 105,000
-l gt 25083 * 20,0008 * 12& 60,000
-SJldts & 1,500& *1,800& * 12& 32,400
-Hegsy 2,970& » 50 » 128 1,782
O&II2 1,000,000& = 12& 12,000
ONszle2 150,000& * 3CH = 12& 5,400
ORKA&gEsx=823 25,000& = 12 300
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SN RBSEAY
M MEDE23

(=)
&
Eel: NSkt SSE2e(nsSAd SE3H) (98

22
J2

20
B
2

SEEECNIERE] 35,0008 * 12 420
ON+E23 180,0008 * 128 2,160
OBFNERYS 150,0008 * 23] 300
OnERY=ya 200,0008 * 13| 200
OA 2ot N85l 48,0008 * 13| 48
Od2®4I| 22l 25,0008 « 204 « 128 600
OLHHARIBFEET SAGZ MAMSDHS 900
-SEEE 200,0008 * 1CH 200
—2ENEE 50,0008 * 1% * 128 600
=S 10,0008 * 13| 100
OXSxBelY, SHEIABDEHE 25 Ity
HE AEEZ 80® * 2,00021 * 128 1,920
ORSHBRlY, SHEIALDEHE AEIIE
R 42 500,000,0008 * 2.7% 13,500
oz 6,080
Oplglal Ly 6,080
-REH
1,002 * 24 * BAIZ » 40T » Q0L 5,760
-2 Xl 80,0009 * 4CH 320
OAEFHIRX I 9,070
ZE 1,500,000 * 30CH * 6/100 2,700
OO MZ2IEf  750,0008 * 30CH * 6/100 1,350
OFXZAIl  3,700,0008 * 3CH + 6/100 666
LY 1,065,0008 * 6CH 6/100 835
OBAE B 1,500,0002! = 4CH * 6/100 360
OS2 M A 1,500,0002 = 2CH * 6/100 180
ODXAMN & Tl
8,000,0002! * 1CH * 6/100 480
OSMBEEI  6,600,0002 « 10§ * 6/100 396
OBISBIECI| 2,200,008 * 10§ * 6/100 132
OSLBEZ 28I 5,850,002 * 104 + 6/100 351
ORBEANYSI ALY FXBS
4,500,000 * 141 = 12/100 540
OXDXBATZIY RNS4
9,000,0008 * 141 * 12/100 1,080
OXt Bt 3,000
OBEXNZY R 3,000,0008 * 1CH 3,000
202 01t 2,040 4,226 ~2,186
02 % 0It| 2,040 1,800 240
OAEINH FI| et SH0iY|
170,0008 * 1% = 122 2,040
301 YerE A 13,860 21,300 A7,440
09 BAUIRRARAZ 13,860 21,300 AT ,440
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SA HHESEMT A
Hu: MNDS2s N
tel: ISkt SE2e(nESAMY SE3A) (S :®2)
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
(=) T ° . [= Bl e =5 O:H{ﬂ,% Lsa
ONsSXUHEE YR EX 13,860
O34 243 13,080
—-QI24d| 97,500& * 4% * 123 4,680
-S4l 5,0008 * 4% » 252 » 123 6,000
-S| 2,0008 * 4% » 252 » 123 2,400
Ol =l 780
=28= 60,0003 » 4% * 2& 480
-gst=s 75,0003 * 4% *« 15 300
405 Kot S| 13,250 28,010 A 14,760
01 XL SEZFHSHI 13,250 28,010 A 14,760
OHINMNEEZHH 7L 13,250
Ol sz FH 1,700,000& * 2CH 3,400
OdIoId Zgld 1,650,000& = 2CH 3,300
O= A 4,000,000& * 1CH 4,000
OXZS=E A 1,000,000& = 2CH 2,000
OZ2AMESD 550,000& = 1CH 550
ot&Gt BESH FHArztel 53,720 92,470 A38,750
307 212t01& 15,720 15,720 0
05 CIZtRIEZ 15,720 15,720 0
OO AIAE SIet Bt
110,000& * 123 1,320
ONBSEANYL A OIH
1,200,000& = 12& 14,400
401 A &HIL 2048 38,000 76,750 A38,750
01 Al&H| 38,000 76,750 A 38,750
Ost&A 2|22 20,000,000& * 14 20,000
OXNHSEAL A AXICHHE(XIFA)
4,500,000 * 44 18,000

_31_




